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, The CODE for this Booklet is

. Immediately fill in the particulars on this page of the

Test Booklet with Blue/Black Ball Point Pen.

. This Test Booklet consists of three parts — Part I,

Part Il and Part 111,
Part I has 30 objective type questions of Mathematics,
Questions No. 1 to 12 and 19 to 30 consist of FOUR (4)
marks each and Questions No. 13 to 18
EIGHT (8) marks cach for e¢ach correct responge.
Part Il (Aptitude Test) has 50 objective type
questions (4 options with single corroct answer)
consisting of FOUR (4) marks for cuch correct
response. Mark your answers for these questions in the
appropriate space ag(unz-. the number corresponding Lo
Lho question in the Answer Sheet placed inside this
vst Booklet. Use BlueiBlack Ball Point Pen only
for writing particulars/ marking responses on
Side-1 and Side-2 of the Answer Sheel. Part 111
consists of 2 questions carrying 70 marks which are to
be atlempted on a separate Drawing Sheet which is
also placed inside this Test Beoklet, Marks allotted to
each question are written against each question. Use
colour pencils or crayons only on the Drawing
Sheet. Do not use water colours. For each incorrect
response in Part | and Part 11, one-fourth (%) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total
score, however, will be made If no response is
indicated for an item in the Answer Sheet.,

. The test g of 3 hours duration. The maximum marks

are 414.

. On completion of the test. the candidates must hand

over the Answer Sheet of Mathematies and Aptitude

Test - Part I & II and the Drawing Sheet of

Aptitude Test — Part III to the Invigilator in the
Reom/Hall, Candidates are ailowed to take away with
them the Test Booklet of Aptitude Test - Part 1 & 11,
C. Make sure that the
CODE printed an Side-2 of the Answer Sheet and on
the Drawing Sheet (Part III) is the same as that on
this booklet. Also tally the Serial Number of the Test
Bookletl, Answer Sheet and Drawing Sheet and ensure
that they are same. In case of discrepancy in Code or
Serial Number, the candidate should immediately

report the matter to the Invigilator for replacement of

the Test Booklet, Answer Sheet and the Drawing Sheet.
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Part I / 97T 1
Mathematics / 0T

bl a b] e o
1. Let A= [: di be a 2 x 2 real matrix. If [1.  HFT A = L gl 4*2 W arefa
A~ al is invertible for every real number «, FE 2 | 9t yT drEfEs g o & fav,
then i arA 3
A—-al ’3‘;{-(‘?.3;” q 3,
(1) be>0
(1) be>0
(2) be=20
ad (2) bc=0
(3) be¢ < min [0, “) ] (- ad)
\ < ) (3) s & T -
| (3) be < A ‘ 0, - |
(4) a=0 L
(4) a=0
1 : 1
$ x x , 3 3
2. The value of J {fmax (e”, e" ")l dx |9, J (AATTHAT (X, ol " %)) dx TN A T 8
0 0
equals ’

(1) 2{(e -1) (1) 2(e-1)

@) 2(e - Je) (2) 2(e~- Je)

3) 2 o) (3) 2( fe)
(3) 2(e + ve) } 2(e + Ve

(4) 2(e + 1) (4) 2(e+ 1)

3. WA a, b a9 ¢ 77 arafas domd ¥ 3R
a, b &l c TUIRK ot % § T a+b+c=xb
g xfm H @ fam Hq==q qg?

3. Let a, b and c be distinct real numbers. If
a, b and c are in geometric progression and

a+b+c¢=xb, then x lies in the set

(1) (1, 3) (1) (1, 3)
(2) (-1,0)U (1, 2) (2) -1,0 VL1, 2)
(3) (—eo, =1) U (3, =) (3) (—eo, —1) U (3, )
(4) (0, 1) (4) (0, 1)
C/Page 2 SPACE FOR ROUGH WORK / T& & & fau s -
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4. Let a distribution be made by combining |[4. #FI @R #@eHi, f5% w&s &1 wem 0 2, a9
" three distributions, each having mean zero, s faaes HUYE 3, 4 991 5 2, 997 anarand
standard deviations 3, 4 and 5 respectively, FIIT 200, 250 TG 300 -,g FI freE 1% 492

and frequencies 200, 250 and 300

. : TG S0 £ | fireiad a7 d2 &1 gHOT 8
respectively. Then the variance of the PN

combined distribution is equal to n @
iy 22 -
LR 15 (2) 17
2) 17 ;
(2) 17 (3) 50
50 3
3) — 62
2 ) =
7 6_2 15
15 5. =g AfawEes x? - y? =4 3 frdl fag W
5. If the tangent and the normal to the @ T WY a9 aﬁi_('r' -3 T
hyperbola x* — ¥*> = 4 at a point cut off FAYE a, 47 a, SaEve FEd 2, O y-37
intercepts a, and a, respectively on the | m b, a4 b, Faave FEa 8, a
x-axis, and b, and b, respectively on the a8, + bb, 3{ 0 2
y-axis, then the value of aja, + blb2 is (1 -1
(1) -1 (2)
2 o (3) 4
(3) 4) 1
(4) 1

6. ﬁ.vTéTa:>0‘0<B<g ¥ fau, w v A

6. The sides of a triangle are sin f§, cos [ and

T+ acinoR " T8 si ws B AWM f(+acno8 &
y1+asin 2B, for some a>0, 0 <P < . oY, sin §, cos B 941 ,[l+asin2B T |

<

If the greatest angle of this triangle is 120°, e 39 ﬁ‘ud W A F 120° R, @ a

then a equals EUCI
3 3
2) = % 3
(2) 5 (2) 5
9 2
3 ‘ 3
Sl (4) -
(4) = :
5 2
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7.  Let f be a differentiable function defined on |7. ¥HT R W U$ IEaaFaqd Sed f 38 YoN

R such that f(0) = - 3. If f(x) <5, for all uftaifeg 2 & f(0) = - 3. 3fc o0t x % foo
X, then \ '

f'(x) <52, dl

(1) f(2Y>7
&) 181 (1) f(2)>7

S
-
)

\
-

(2) f(2) =7
(3) f(2)>8

(4) f(2)=8

8. Let «, and vy be the le ade by - - o S -
B y b e angles made by a 8. f-amam # ueE uF T SR 3 (axes of

o = S - S
reference) &l ¥4 IS & WY FT «, B

gy ﬂﬁ%lﬁ?eawq;%méw

line with the positive directions of the axes
of reference in three dimensions. If 0 is the

acute angle given by
cos® o+ (‘OQ" B+ cos=

CoS® ot + ’,+ y cos 0 = — ____'H'r,p,”.{
cos 0 = 3 CO\ ‘ ws) -, then 0 sin® o0 + sin®  + sin®y
sin® o + sin® f} + . a
n?f + sin? Y da o IR 2
equals
v R
( % (1)
(1) -— y
6 6
oy X
(2) n (2) 3
3 $
- X T
(3) .z , @ 3
W = 4 =
4 4
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: S B : (" X: 1) R
9. let f:R - I~ . )' be an odd function |9 HH f: R - | ~ =] TF UM A %eH
9 ‘ \ & “ /)
such that lim f(x) exists. 2 lim o &1 sfEE 2
k=30 ’ x40

, . 1 . )
lhen, lim ———— equals - U S @
x—=0 2f(x)-1 ' “ NPT e SO

(2) 1 (2) !
2 l P

3) 2 (3) 2
-1

|4,I 41 ‘4‘ ) §

10. The real part of a complex number z|10. Wfisy d@&m z S |z - 5i| - | & HAE &

satisfying |z - 5i| £ 1 and  having 2 a1 foae T=9 FvNS =an 2, ®1 T
minimum principal argument is X = <
0.6 e
(1) vy ala
5 {1} 27\ G
' 5
(2) 0
(2) 0
2
(3) 0
vh (3) I
vh
J6 :
(4) = 6
4 D (4) - vo

11. The maximum possible number of points of

intersection of 8 straight lines and 4 circles [11. 8 §{& IWI @41 4 1 F WA= A &

ia HfeFay d@vg 9= ¢
(1) 164 (1) 164
(2) 76
(2) 76
(3) 104
(3) 104
(4) 32
(4) 32
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12. Let f:R—> R be a function defined by |12. HH f:R —» R U&% G&H r’ it

fix) = x*9% 4 2009x + 2009. fix) = x*%% 4 2009x + 2009
Zra gftafad #
Then fix) is e ’
ol fix),
Il.J one-one but not onto (1) m*‘ 3 2 W s T 8
{2) not one-one but onto (2) W T f' T R ;.
(3) neither one-one nor onto (3) H a 'rfgm i’ 3T 7 B AoeE
(4) one-one and onto (4) THa a9 ADEF B
13. If the third term in the expansion of "
- 5 [1 lo x| N o -
1 ™ : 13. |_ + X B10 > % [ @l qiE9d 9g
[—+xlog10xl'.x>l. is 1000, then x | % = | »x>1 % & = T
X - 2 Y ~ ¥ 2
squals 1000 &, T x TR &
)
(1) 10 LU
&y (2) 1
1 Z)
(3) 1»
(3) 71,1_ Y10
V10 (4) 100
(4) 100
r 1
: ; . mm -2 B o gem i yer | ofonfie
14, Iet f be a function defined on [-—% %] by i ; | 27 2] S
g

fix) = 3 cos” x — 6 cos® x — 6 cos® x — 3. p - =
f(x) =3 cos” x — 6 cos” x — 6 cos” x— 3.

Then the range of f(x) is < 3 a
5 & fix) B o #

(1) [-12, -3] i
(1) r 0y ‘
{2) [-6, -3] ‘ (1) [-12, -3]
(3) [-6, 3) lt2:' -6, —3]
(4) (~12, 3] (3) [-6, 3)

(4) (=12, 3]

15. The equation of a straight line belonging to
both the families of lines
x—y+1+2(2x~-y—-2)=0 and

15. AW E@-FA x-y+ 142 (2x-y-2)=0

a9 S5x+3y -2+ A,(3x-y—-4)=0, %

5% + 3y — 2 + Ay (3x —y — 4) = 0, where hys g W dend §, § sfwfen @ @
hy» Ay are arbitrary numbers, is T GEET 8
(1) Bx-2y-7=0 (1) 6x—-2y-T7=0
{(2) 2x+0y=-7=0 (2) 2x+5y~-T=0
3 x+2y—-T=0 (3) Sx+2y-T7=0
(4) 2x-5y-T7=0 (4) 2x~By~-T7=0
C/Page & SPACE FOR ROUGH WORK /1% &1 & foe wmig

AIEEE AND NATA B.ARCH COACHING ARCHO (ARCHITECTURE CLASSES)



AIEEE AND NATA B.ARCH COACHING ARCHO (ARCHITECTURE CLASSES)

Directions : Questions number 16 to 20 are

Assertion — Reason tvpe questions. Each of
these questions confains two statements :

Statement-1 (Assertion) and
Statement-2 (Reason).

Each of these questions also has four
alternative choices, only one of which is the
correct answer. You have to select the correct
choice.

fdor : 399 T&Tm 16 T 20

‘ :\ ’.'_‘ ;i;;;(al
TFIT - 9 VAR & § | 9% 7 ¥ g yEn
& Y&y fod w5 ¥

s

THIA-1 (FyagrTs &g) 30

"HER-2 (29 |

Nr4% Y9 & 9F faweq 8 [G70 @ a0 U% a8
I F | MUFT TEl faweq F gAEa A E

16. Consider two lines in three-dimensional
plane
16. Tifaw wwaa & & \vl{f]”_;: Ao
Lo x-2 _y—-2 _ z—-2
o e T -
1 1 1 I x—=2 y-2 _z-2
-1
1 1 1
Tiais x-1 _y _ z+]
0 1 2 I - X -1 =¥ Z+1
4y . - —_— =
Statement-1 The shortest distance o 0 1 2
between L, and L, is zero.
Statement-2 : The lines L; and L, are 5 2 Z
coplanar. THAA-1: L, T L, F 99 T W I E |
THAA-2 1 W@, L, 71 L, T ¢ |
(1) Statement-1 is true, Statement-2 is
true; Statement-2 is not a correct » .3 ’ - )
explanation for Statement-1. (1) %1 IIR‘ ? THIT-2 {«44 e WHa-2,
Yh4A-1 &I GE A 7@ 8 |
(2) Statement-1 is true, Statement-2 is 2 2
false. (2) ¥HYA-199 8, Fhe-2 e 2 |
(3) Statement-1 is false, Statement-2 is (3) YHeA-1 e 2, WSR2 89 |
true. R .
(4) TH94-1 99 2, J6949-2 99 7, J694-2,
(4) Statement-1 is true, Statement-2 is YHYa-1 & GE e 2 |
true; Statement-2 is a  correct
explanation for Statement-1.
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17. Let ult) and vit) be two solutions of the |17. FFI ult) A4l fvit) ¥5F5 == =
differential equation dv(t) 2 . s _
dy(t) 2 : . —— = e yit}+ sint. 38 =2 <w2)
‘d = ¢ y(t)+sint, with u(2) < vi2). dt
t - - >
A B
Statement-1 : u(t) < v(t), for all t. ”
3 . THG-1 : t & 99 WA FH 0, Wity < vit).
Statement-2 : u — v is proportional to a L ' X 7 UNE ;
positive function of t. TBYT-2 : u~v, t%F T& D BT %
(1) Statement-1 is true, Statement-2 is AHIYET & |
3 -1 » y ) is [ v N a a
true; bl:xlum.nl.. is not a correct (1) TEEE-1 T E YEE-0 TN ¥ §Re-.
explanation for Statement-1. I AEY oy
YHd+-1 FI T AT T@l 2 |
(2) Statement-1 is true, Statement-2 is i ]
false. (2) SRG9-1949 2, AFG4-2THLAT & |
(3) Statement-1 is false, Statement-2 is (8) Yag9-1 Ao 2, g2 99 2 |
true, 2
(4) Statement-1 is true, Statement-2 is (4) ¥541-1 9 ¢, 5‘-—.'5?::7"2 ¥4 8, ¥993-2,
true; Statement-2 is a  correct W&HY4-1 F Hel e B |
explanation for Statement-1.
18. Startement-l : ’I‘hg. functinnd fﬂdcﬁncden Eli8 weag9-1:R % oofis wes £
as fix) = min |x, x°] is not differentiable at , . 2 - -
S f(x) = =9 [x, x%), x=1W FaGaE T4
S Z |
Statement-2 : The smaller angle between €
the tangents to the curves y=x andy = X2 WHIHA-2 : T& v = x a4 y = x° & f%':;' x=1
at x=1 is tan"! | X l W Eidt T Wy e § A" & B &
\3)
y NG
‘ tan™ i |
(1) Statement-1 is true, Statement-2 is 3 )
true; Statement-2 is not a correct
explanation for Statement-1. (1) ¥&594-1 9§99 &, T$99-2 9 &, 9597-2,
2) S . . _ Y541 H Tel Al T@1 8 |
(2) Statement-1 is true, Statement-2 is
false. (2) ¥&gd-1 §cd :’ q&hg-i-2 fL‘?JIT% |
(3) Statement-1 is false, Statement-2 is 2 a
¢ (3) %&a+-1 ey 2, ysga-2 852 ¥ |
ruc,
(4) Statement-1 is true, Statement-2 is (4) ¥E99-1 97 &, "F94-2 94 2, WHgH-2,
true; Statement-2 is a  correct YHg--1 T TE AT 8 |
explanation for Statement-1.
C/Page 8 SPACE FOR ROUGH WORK / T% &1 & T wmrg
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=5 - oo & g
19. Statement-1:If & and b are two vectors [19. Wh@A-1: afC a @¥ b 2 @ wew # f&
il - -
Suchthatla)|=‘2.|b|=3.l25)—b =35, 'a>|—2, Ib) =3 |2a
=L o J
then IZa) + b I = 5.

Statement-2 : For any two vectors ¢ and

- » o ->

T, |2 ~F =2 LT)

(1) Statement-1 is true, Statement-2 is
true; Statement-2 is nof a correct

explanation for Statement-1, (1) 9451 94 é -2 WY T -2,

Y&4-1 % el S 7@ ¢ |
(2) Statement-1 is true, Statement-2 is

false. (2) ¥&99-1 9 2, THaA-2 faa ¢ )
(3) Statement-1 is false, Statement-2 is (3) Yaaq-1fazm 2, waa-29a £ |
true.

(4) Statement-1 is true, Statement-2 is W R S ?’ “m-f biin) %; o2
Y549-1 F HEl AR 2 |

true; Statement-2 is a  correct
explanation for Statement-1.

. -1 (1+x) 1-x2)

A ~x2) |20, HAT f(x) = 2 t: ‘(— in~!
20. Let f(x)=2tan'1 “—451 + sin~! [1 x.,}. = it X J o 1+%x2 )
) 1+x°" ;

1-x

C xeR x21,
xeR x#1.

Statement-1 : {”(x) = 0.
Statement-2 : The range of f(x) is {z).

TRaT-1 : f"(x) = 0.

(1) Statement-1 is true, Statement-2 is WHIA-2 : f(x) B & (1) 2 |
true; Statement-2 is nof a correct
explanation for Statement-1.

(1) Y$49-1 99 2, ¥Hg4-2 5 #; ¥693-2,

(2) Statement-1 is true, Statement-2 is THY-1 F T AT qzﬁ{g |
false,

(3} Statement-1 is false, Statement-2 is (2) 1N E, Y2 el

W (3) WEYR-1fe &, yeaa-2 9T 8 |

(4) Statement-1 is true, Statement-2 is

true; Statement-2 is a  correct (4) ¥HIE-1 §9 2, W'?Z T &, 3094-2,
explanation for Statement-1. THGq-1 T GEl ;e # |
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21.

22.

23‘

The contrapositive of the statement, “If x is
a prime number and x divides ab then x
divides a or x divides b”, can be symbolically

represented using logical connectives, on
appropriately defined statements p, q, 1

as

(1) (~rv~s)=(~pA~q)

(2) rAs)—(~pA~q)

(3) (~rA~8)—=(~pV~-q

(4) (rvs)=2(~pV~q)

If cos 25° + sin 25° = k, then cos 50°

equals

)
(1 ~ky2-k*

(2) kyl-k?

(3) —kyl-k?
(4) k \") -
» » —
If a, b and ¢ are non-zero vectors
-» > -p > > o
suchthat a x b = ¢, b X ¢ = a and
— — —
¢ xa = b, then
e
(1) [a b ¢c]J=0
2y -y
(2) a =b = ("
2 > . »
(3) Ial:'bl:lcl
S > 4 >
(4) ‘al-flbl—lcl:O

21.

22,

23.

yeuq “Ife x u= 3 U@ 2, 991 x, ab H
ﬁmﬁﬂmo a1 WA x, a S faafaa s
g, W x, b fanfss sw@ 2 % yfagaes
= THas ®9 H§, 3Ugw wy § gfiufeg Se@
;Lqﬂ,bﬂnFdﬁmﬂxﬁﬁﬁﬂ7mquIIQT?r
®y % faefyg G s wwar 2 2

(1) (~rv ~s8)=2{~pA~q)
(2) rAs)=(=paA~q
3) (~rA~s8)—=(~pV~q
(4) (rvs)=2(~pvVv~q)

3 -
g cos 25° + sin 26° =k B, @ cos 50° F0EL

)1 E2

[ =TT
(1) —ky2-k?
(2) kyl-k?
(3) —kyl-k?

Y T )
(4) ky2-k

-
o
X
—
o
]
o
—_—
&
X
)
Il
=

1) [2 b ¢]1=0
0 R O
2| =|b|=]¢|

+ll;‘—|l‘.§i=
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24. A man is known to speak the truth on an |24. & =afw & fawg & fa=na 2 5 g sitgad 4 ¥
average 3 out of 4 times. He throws a fair ¥ 3 a% 99 dldr | 98 us sEfuEd uE
die aqdl rcport§ 'Lhat it is a §i:~:. The Yrmi s s e e o ¢ | aE §
probability that it is actually a six is T | e 2

3
(1 {
il vy 3
5]
3
(2) A
2)
8 @ 3
3
3) - :
Ll @ 3
4 N 4
5 (4) ;

25. The circle x* + yz -6x ~ 10y + p=0 does | __ 9 2 R P .
not touch or intersect the axes and the point | < ™ ey ) G\ B 19} AR 0 £ .@f‘;’
(1, 4) lies inside the circle for all p in the s S e 53‘? 3‘37 3¢ Frear & 1 "
interval e ¥, v p 3 fow, fag (L, 9 FW F

I 9 B qdd & ?
(1) (25, 35) sicr- 3 e @ 2
o foot (1) (25, 35)
Ny (2) (25, 29)
3) (0,25 (3) (0,25)
(4) (0, 29) (4) (0, 29)

26. The area of the region 26. &7
(x,¥):0Sy<x*+1,0Sy<x+1,0<x<2) (x,5):0Sy<x>+1,0Sysx+1,05x<2)
is F HIFA 2

23 &

et (1
(1) 3 3
J ~ 2]
@ 2 @ =
: 6 6
(3) 72} (3) 23
' 6 6
i 16 . 15
@ < 4 3
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F=d gmr=l g pr=l 27. HF r=1,2, ..,n & fau
| gr—1 P 5 r—1
27. Let A = a B v |, for 2 2.3 4.5
ofo1 8%-1 ph=a A=| @ p ( |
n 2!1_1 3“_1 5”_1“

r=1 2 .. n Then Z A, is
r=1 - \

al ), A

(1} independent of &, B, ¥ and n

(1) o,B,y 9% nd @d7 &

(2} independent of n only < - A

(2) FEa@ nd =aa 2

(3} depends on ¢, , v and n (3) «.p,.y T nT| mﬁ}{?z’

(4) 3?3%‘. «, B,y d Eqﬁ'ﬂ%
(4) independent of o, f, ¥ only

28. Let f:R—>R and g:R > R be functions [28. H¥ f:R->R @4 g:R-»>R T =T

defined by fix) = sgn (sin x) and fr= won & uftafyg &
g(x) = sin (sgn x), where fix) = sgn (sin x) T g(x) = sin (sgn x). &
1,. iF &%:0 1, A a>0
sgn o0 = {~1, if @<0 sgn @ =11, A a<0
0, if a=0 0, AT a=0

fE A=f(n) a0 B=gix) 2, o
If A={(n) and B = g'(n), then
(1) AT AT THE TG B=0
(1) A does not exist and B = 0
(2) A=0 99 B=0
(2) A=0and B=0
(3) ATY B Al #1 tftaa 78 8
{3) both A and B do not exist
(4) A=074 B iftaa 78 2
(4) A =0 and B does not exist
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AIEEE AND NATA B.ARCH COACHING ARCHO (ARCHITECTURE CLASSES)

12



AIEEE AND NATA B.ARCH COACHING ARCHO (ARCHITECTURE CLASSES)

29. In a class of 20 students, each student can [29. T& F4I F 20 fgardf, wes uiem ¥ = &

score either 10 or 0 marks in a certain 10 3f% o1 0 3% W9 I TEd £ | TG OH
examination. The maximum possible faanfidl & wraiwl &1 wfasay d99 gaor #
variance in the marks of the students in the
(1) 24
class is
(1) 24 (2) 22
(2) 22 (3) 20
(3) 20 (4) 25

W
)
o

30. 3fe fgurdl ¥F ax* + bx + ¢ = 0 F °A
o, B &, 0 el wef
30. If the roots of the quadratic equation R X 2 i
o ax“=-bx(x-1+c(x-10 =0 & 9§ 2
ax“ + bx +c¢=0 are o, B, then the roots -
of the guadratic equation &1 : P+1
P o o B
ax"~bx(x-1)+c{x—-1 =0, are
(y &*1 B+l ay B B
o P a-1" B-1
(2) = G i Bf (3) M [_j
o-1 -1 z+1’ B+1
&y . B ,- 4 1-a 1-8
a+l’ B+1 }
I
4) 1-a, 1=
C/Page 13 SPACE FOR ROUGH WORK / T% &Td & fou 317
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Part II / 90T II

Aptitude Test / AfHera T
Directions : (For Q. 31 to 36). The 3-D problem figure shows the view of an object. Identify, its

correct top view, from amongst the answer figures.

FEor : (7. 31 @36 & @) 1 3-D 397 37gly & oF 757 & @3 T & | 59 G F0 ¢va, IR

IFTT F 7 EHAT |
Problem Figure | 3% 3T&d

Answer Figures | 3T Aiag]

75 5H

31.

(1) (2) (3) (4)

/’

32. O

{1) (2) (3) {4)

1] eS8

L] (L []
38, Lim: Il fiza

(1) (2) o

£ 3 T
|

34. I -~ = -

(1) {2) (4)
35. @ ]

(1) (2) (3)

1 [o =] | 1 =
B A [E] FH
S —
(1} (2) (3) (4)
C/Page 14 SPACE FOR ROUGH WORK / T% &1 &% fau s
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Directions : (For Q. 37 to 41). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the direction of arrow.

T : (7. 37 W41 & fom@) | 3-D 597 SFHT ¥ g% a5 & UF §v9 F fa@rr 79 € 1 v & fen g
2@d gU, §99 Wel W VT @ Iul A T & wgaiag |

Problem Figure [ 334 3T Answer Figures | 3 HFioar

i
I\ - erI A5

= (1) (2) (3) (4)

' = |
) = M B B
, J
(1) (2) (3) (4)
/"
30, @ Fm (8 0CE 8
/7 (1) (2) {(3) (4)
PR mly
40, 7
A 2 (1) (2) (3) (4)
r!:E ) - R, R
41. N | = == = | ~1
P (1) (2) (3) (4)
C/Paae 15 SPACE FOR ROUGH WORK / T% &1d & fog g
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Directions : (For Q. 42 to 46). Find out the total number of surfaces of the object given below in
the problem figure.

29T : (7. 42 W46 & Q) | F97 3FfT 7 fr=ifea aaq 4 qag) #1 Fo qG% FT A |
Problem Figure | V9 31"?:{:.‘.’}

: ] 5
42, [\7 i

D

(1) 14 (2) 15 (3) 16 (4) 13

« N7 "’Tn
43, ;_/--\1\\ P S | ’
\;:?_ Y . (1) 10 (2) 13 (3) 12 4 9
B
Qe

44.

7
45 S Y A ' (1) 14 (2) 15 (3) 12 (4; 138
~. o .

| A
.I

| _J"

- "\\

r/ \\_’, ~
>~

/
.V

. O &Y

; b {/
46- "y \J / { \ 2 (Y { {2 B
{ \ (&) i .

/
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Directions : (For Q. 47 and 48). Which one of the answer figures, shows the correct view of the
3.D problem figure, after the problem figure is opened up ?

For : (7. 47 AT 48 & f370) | 3-D F97 FH F Geid W, IR AFA H F 76 ¥ FAAE 7

Problem Figure | 3% 30&Iq Answer Figures | 397 3&a

(1) (2) (3)
. [ i
) | .
“ ., [a] L 5
e b | bl =
(1) (2) {(3) (4)

Directions : (For Q. 49 and 50). One of the following answer figures is hidden in the problem
figure, in the same size and direction. Select, which one is correct.

391 : (7. 49 3t 50 & o) 1 9 & 7 IR TG § G 0% nFly qY 7 w0 F T § F 597
sty  fodt & | @iaet @@ &, 9

Problem Figure | 5% 1 Answer Figures | 311 -3’.?5‘/-:?’47
3
~,
el
(1) (2) (4)
(/-\
{ \
| | '__'] p—
\ c) | l N
50. Vo) \J
(1) (2) (3) (4)
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Directions : (For Q. 51). How many total number of rectangles are there in the problem figure
given below ?

3%T : (3. 51 & for@) | 19 & 78 397 gty 7 oA F g G Haa & 7

Problem Figure | 397 3ir#id

(1) 11
(2) 12
51 :
- 3y 13
4 9

Directions : (For Q. 52 and 53). How many total number of triangles are there in the problem
figure given below ?

3% : (%. 52 3T 53 & o) 1 19 & T yv7 aFla ¥ Ay & g F&y fEad & 7

Problem Figure | 597 37&l7

(1) 14
52. (2) 13
(3) 12
4) 15

/ (1) 12
/ (2) 14
53. /

(3) 138
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Directions : (For Q. 54). The problem figure shows the top view of an object. Identify the correct
elevation, from amongst the answer figures.

3 : (8. 54 & @) | 77 gl ¥ fEdt awg & I gvF G@ar T F | I snglaa 4 § FHH
T TG v = |

Problem Figure | 397 &l Answer Figures | 3¢ 3Fa9r
Dy P/ ).
54.
r
(2) (4)

Directions @ (For Q. 55). A sheet of paper was folded four times, along the fold lines, indicated
in the problem figure. Pick up the original paper sheet out of the answer figures.

o : (7. 55 & forw) | UF @ @ 999 gl ¥ RET T H@R & SER, a% ar e 79§
IT AFITT A § aTE FOH F GG FC |

Problem Figure | 337 3Fld Answer Figures | 30 3F a9

00O A

Directions : (For Q. 56 and 57). Identify the correct 3-D figure from amongst the answer figures,

which has the same elevation, as given in the problem figure on the left, looking in the
direction of arrow.

fr - (% 56 3T 57 & forw) | 307 swladl § & 3§ G 3-D @G F TgEnu, e a9E 799,
A @ fewr & @0 g A S & W FvT angy S &

Problem Figure | Y%7 3T Answer Figures | 30% Si@ladl

¥
56. | H
w BB @

.
(3) (4)

-8 8 A B8
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Directions : (For Q. 58 to 60). Find the odd figure out.
89T : (7. 58 @ 60 & To7W) | fawe suzfy Famw |

(1) (2) (3) (4)
Directions : (For Q. 61 and 62). Which one of the answer figures will complete the sequence of
the three problem figures ?
& : (7. 61 3T 62 & forw) | 377 safadl # & @id sidly # a7 5o HoA § 70 T A
(sequence) T r:T senr 7

Problem Figures | 34 3?.'?3.% ar Answer Figures [ 3¢ 37.:'317.3 q7
s olo | | =|e e|v ft) <o | olo | | olo ®|<
" Al@ o Oojo ’ ° ..D ‘ .,'C’ i .i{‘ oo
2 S I | S— —— N _,' | — — S
(1) {(2) (3) (4)
| N | <A { / 5 ‘ ,
62. ?fl- N —[‘E%’— ? \ 2| |5 .. —GL
= M </ ? l-\/v |
=5 = B, > AUR, ey OO (| A oo et
(1) (2) (3) {4}
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Directions : (For Q. 63 to 65). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X — X ¢

2 : (7. 63 & 65 & forw) | 3w sygladl & & @it sty & 7 997 AT X - X W @ 9
yiefaa g 7

s ' .
Problem Figure | 5¥4 3
X

s_'?t
AN

Answer Figures | 3 3fEiqdl

1) (2) (3) (4)
X
X
.~._\ 7 h .}"/ ” “ /',-’"' |
\ { )
64. / \\\ /,- ! /,
‘_—-‘. \ 'v/,/ /2 S
X ase I/
' (1) (2) (3) (4)
X
X
65. % -
X (1} (2) (3) (4)
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66. Which one of the following is a synthetic |66. f=fafad ¥ ¥ S uF wiveE ﬁi? 7
I 2 -
fibre ? (1) R
(1) Acrylic
(2) A
(2) Waol %
%8
(3) Cotton @ =
(4) Silk (4) ®E
67. Which one of the following is not a type of |gn  fimfafag § & Fi9 T &1 5= 787 ¢ 2
stone ? 5
. % (1) TR
(1) Granite e
(2) Terracotta (2) <THE
(3} Marble | (3) HHHT
(4) Kota (4) e
68. Which one of th_c fnl]nv‘:i?‘g is used to reduce 68, Frwdll @ mud gAY B HC ® fov, et
consumption of electricity to the greatest ot P G S fotn
extent ? " H 83 997 | oE= S @ /
(1) Fluorescent Tube (1) wfadifa afe
(2) CFL Lamp (2) WL.UETA, @9
(3) Sedium Vapour Lamp (3) Hifzgw am A9
(4) Tungsten Bulb (4) ZTRH goA
69. Which one of the following are used to make |69, 7 1 & fau f Ta 8 ¥ feger wmm i
an Igloo ? A AT E ?
(1) Ice Blocks (1) 5% F =& &
(2) Stone Blocks (2) YOO & =t @l
(3} Concrete Blocks (3) FHE & wia &
(4) Mud Blocks . (4) T & R
: ; — Sefips #a @ wd waEd ¥
70. Which one of the following types of flooring |70. T&% e ?Ti_" I f“'ﬂ '4-1:#’—1 $ Idu
is most suited for a Badminton Hall ? frfafaa # ¥ a9 599 305 2 ?
(1) Glazed tile flooring (1) FIfea TR & G
(2) Brick on cdge flooring (2) ¥z f T F 6y
(3) Wooden flooring (3) wHE Byl
(4) Granite stone flooring (4) IR TR 5w
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71. Stonechenge is situated in which one of the |71. Fa e X 3 el g @
following countries ?

(1) Great Britain

(2) Germany
(3) France §) Ff
4 Hive 9

(4) Australia
72. F=fefEs wRE ¥ O 99 569U 39T

-+ 2

Which one of the following monuments was 4 99137 91

~1
o

built by Mughal Emperor Akbar ? (1) = e
(1) Red Fort : =

ve< (2) 91 JHER
[ h . Mins - . .
(2) Char] Il.mrr (3) TR S
(3) Fatehpur Sikri s

Fad 1R
Qutub Minar *
73. TZuy § frafafes § 8§ s48 T &1 9=

73. The rainbow contains which one of the 22

ollowing sets of colours 7 1y R e A 3 -
following sets of colou (1) Frft, e dFer Bn e S s

(1) Violet, Indigo, Blue, Green, Yellow, AT
Orange and Red L S T 8 C -
geand hed (2) @, 3fem, @en, gwr, den, S sk
(2) Violet, Indigo, Black, Grey, Yellow, =T '

Orange and Rec s : e : ‘
B Ang a0 (3) @, fEw =A%, W, dwm, TN SR

(3) Violet, India black. Green, Yellow, —
Orange and Red , Hen o o 5 a4
ks . (4) AR, Ew =g, gw, 9, T s
(4) Violet, India blue, Grey, Yellow, A
Orange and Red
74. TY R % UEA UF FI, @} F ogag °,
y Thich one of the fallowine a1irfars nivalitsac . = DR R =
74. .\thc_n one of the following surface qualities fafEs § | 59 991 31 992 TvEy T
is suitable for the internal surface of a Wash -
Hand Basin ? ‘ :
RS (1) %A1
(1) Smooth '
(2) Matt e Sh
{3} Granulated i
(4) Rough b =

Mo

75. g afafag sof 9 ©

=1

i

The tallest building of the world is located
in which one of the following countries ?
(1) US.A.
(2) Dubai
(3) China

{

{4) Malaysia
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76. Which one of the following cannot be made |76. f=fafaa ¥ T siwa vs, & ar afas o =)
by mixing two or more colours ? faa § 727 a5 51 gFar & 2
(1) Secondary colours (1) iy G
(2) Complementary colours : 7
, P v colours (2) T
(3) Tertiary colours (3) m el
(4) Primary colours (b.,“ g (,;W) b2l
77. Which one of the following is not al|77. fi=faf@a % | = e =Y od Jg1 @
matching set 7
(1) Cairo — Rhine (1) ] — TH
(2) London — Thames (2) weA — g
(3} New York — Hudson (3) JIE — =z
(4) Baghdad — Tigris (4) m{ﬁ frfeg
78. Which one of the following is a horizontal |78. fr=ffes & @ =m@ e &1 s dftw
structural member in a building that carries GTEAIqS AT 2 i1 % 9R 389 Fn 2 ?
load ? . "
, (1) W& (A7)
(1) Arch - ;
. (92 0 m’.
(2) Column (2) (NP
(3] Vault (3) WeEl 34 (Se)
(4) Beam (4) @M
79. Which one of the following is nof a built-up |79. Fr=fafes ¥ @ e U fafi sifex 787 2 7
temple ? (1) I
(1) Konark -
(2) U
(2) Khajuraho (3) AN
(3) Ellora ) feemreEr
(4) Dilwara - '
80. vIEsEiER fwfafas w=d & 4 faga s
80. Shahjahanabad is a part of which one of the frem 2 ?
following cities ? %,
X (1) ©@AS
(1) Lucknow et
(2) Delhi 18y
(3) Aurangabad (81 SIS
(4) Allahabad (4) R
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